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Note : Part-A consists of ten Objective type questions ; Q—Sy
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answer type questions Part-C ccnslsts four Long (@) 0
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(Objective Types Questions)

1. Ten objective. All queations to be answared. [2x1 =20]
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(b) 12
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iy 1f A=|14 17 20/ then |4 Is equalto:
\d 16 18 21]
13 18 19
IR A=|14 17 20 & |4=
18 18 21|
(a 1
(b) 2
) 3
(d)/ 0
(iv)  The slopeof Demand function, x = £¢ p) would
be:
AT e x= f(p) N T &m :
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dx
(b) dp

(€) Both (a)and (b)
)/ -
(d)  Noneofthe above

First order Partial Derivative of

i = x° ~3x2y+3xy? - »° would be :

d= s —3xly By =y B TR T S

g
s ~3x% +62y-3)°

(b)  3x%-Bxy+3y°
-
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Producers Sumlus Is Given by :
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(d)  None of the above

PPU-M-I(ECO)-CC-3/220 ( 5 )

https:f’;‘wwwpﬁupm] ine.com

(vill) Lin

/(ay Prof, Dant2ig

(ix)

ear Programming was developed by

(b)  Lelontief
(c) ThomasMun

{d)  Noneofthe above

()~ S Soam

by Rl

€ o

@) SR & o wd

Game theory was developed by :

(a) Leontlef

Y~ Von Neumann and Morgeston

(¢) Munn

(d)  Noneofthe above
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Input-Output Analysis was developed by :

(@)
i
(c)
(d)

Fra-frte Rreeor B famlra Rear

Kuznet
Leontief
Smith

None of the above

(a) FIwE

(b) feraifes

—

(c) fomu

(d) IR A B T
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PART-B/ 9 - &
(Short Answer Type Questions)
(7 Sl 99) |
Note : Five short Questions. Four to be answered. [4x5=20]
dig @y Sala ge Rl 9] I AR

y Find the total differentiation of the following function.
.!"'.,

L= {_1‘2 + _vz)(“lx y)

Prfaiiad G & I SaE e
.=:=(.1~:2 +'_v2)(1,‘x+y]

Find the equlibrium prices and quantities for two

¢/

commodity models

Xe,=—2-p+q; Xy =279
7

X“’z =—3—p—q;X¥2 =-9+p+q

-

Where p is the price and q is quantity.
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,X:'Irl1 =F2_P+Q;Xﬂ =—2*!?

Xi,==3-p=qi X, ==9+p+y

&, p= e AR g= R (Fem) ¥

If the Marginal cost function of x units of output is

a - -
Jaxib and if the cost of output is zero, find the total
cost as a function of x.

)
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What are the methods to solve a Linear Programming

Problem ?

W S Hwaniﬁ‘sa = B R R =
27

For the following Input-Output Table, Calculatg the
Technology Matrix and also write the balance

equations for two Sectors:

[PT.O.]
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Note :

~

A

Sector B Final Demand
A 50 - 150 | 200 -
B 100 75 - 100

=g omm-Frfg arolt & Rie qwdts 3 @
FT Hifere ofix & BT & e S T i T

& %iQI
3l A B | ghfEa qm
A 50 | 150 200
B | 100 | 75 100

PART-C/ 9 - ¥
(Long Answer Type Questions)

(&Y S we)

Five Long Answer questions. Three questions to be
answered. [3%x10=30]

Eﬁﬂﬁﬁ@ﬁﬁﬂmlﬁfﬁ”ffﬁ?mﬁﬁwaﬁm

Explain different types of functions in Economic
Theory.

M e g et et 4 s sy
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g. The demand fucntions for two related goods are given 1. Explain the classification of Game Theory, What is
by 1= 2p3p2 and xp =4 2 zaddie P:Lnt ?:Ju:;n a;nfi tl*u:::;.ﬂuf it is different from
ames without Saddle Points 7
(i) Find the partial elasticities. s qﬁw e e
(i)  Are the goods competitive or complementary 7 e ai'hT 3 ?1_( — ﬁfﬁm - %fa:g
3 agelt & s v B E no2p0n N Y- |
x2 %4;?52;?}?
(i) | 37rE A" S Bhite]
(i) ma@ﬁm\%ﬁ%wwg?
9. IFor a. r'TID!"EjIPIOIist demand Law is 7= (6- %) and

marginal cost = (14+x). Find the Consumer Surplus.

e i A P p=(6-10) & AT
e = (14+x) 8 @ SRR S T A

- t
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10. Whatare the A p Outout
' : : imitati Input Qutpu Whatsapp @ 9300930012
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